
 

 

 

Addition and subtraction word problems 

Name : Class : Date : 

 

Mark : /5 % 

 

1) The number of visitors on a particular day to a Science museum were 

recorded by nationality. If there were 333 Italian, 483 French and 535 

Americans, how many visitors were there altogether?      .........  

      

[1]   

2) 428 children go on a school expedition. There are 146 Year 9s and 107 

Year 10s. The rest are Year 8s. How many Year 8s are there? 

 

     .........  

      

[1]   

3) A supermarket has 509 sacks of potatoes at the start of the day. During 

the day, 185 sacks are sold and a further 141 sacks are delivered. How many 

sacks of potatoes are there at the end of the day? 

 

     .........  

      

[1]   



 

 

 

4) A factory needs to produce 6510 tubs of margarine. In the morning they 

produce 2163 tubs and in the afternoon they produce 2358 tubs. How many 

tubs of margarine do they need to produce in the evening? 

 

     .........  

      

[1]   

5) The number of visitors in a particular year to a Natural History museum 

were recorded by nationality. If there were 12868 Dutch, 17447 Chinese and 

15374 Swiss, how many visitors were there altogether?      .........  

      

[1]   



 

 

 

Solutions for the assessment YR5 NC10 - Addition and subtraction word problems 

1) 1351 visitors 

 

2) 175 Year 8s 

 

3) 465 sacks 

 

4) 1989 tubs 

 

5) 45689 visitors 

  

 


